The Wizard Of Oz Stage 2
Answer Key

A) TRUE OR FALSE

1. There were only two witches in the Land of Oz? T ®
2. The house fell on the witch of the West and killed her. T ®
3. The Munchkins were small people. M F
4, Dorothy didn’t take the silver shoes. T ®
5. The Great Oz lived in the Emerald City. @ F
6. The Scarecrow Dorothy met was dressed in all blue. @ F
7. The Scarecrow wanted to see the Great Oz to ask for some courage. T (F)
8. The Tin Woodsman drank oil. @M F
9. The lion wanted to see the Great Oz to ask for some food. T ®

10. Dorothy went to the Throne Room of the Great Oz in her old clothes. T &

B) CHOOSE THE CORRECT ANSWER

1. Dorothy wanted to go to the Emerald City

A) to spend her summer vacation

@ to ask the great Oz to send her to Kansas
C) to say hello to the Great Oz

D) to invite the Great Oz to Kansas

2. The Scarecrow wanted to see the Great Oz to ask for
@ some brains
B) a heart
C) some courage
D) some straw

3. When Dorothy met the Scarecrow, the Scarecrow was old.
A) three years

just three days

C) three months
D) very

4, The Calidahs were dangerous animals

@ with bodies like bears and heads like tigers
B) with bodies like tigers and heads like bears
C) with bodies like monkeys

D) with bodies like lions
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5. The guards in the Emerald City were dressed in uniforms.
A) blue B) orange
C) white @ green

6. When Dorothy went into the Throne Room, she saw
@ a big head
B) a Kalidah
C) a short bald man
D) a beautiful girl

7. Dorothy decided to stop and talk to them because

@ they were very tired and hungry

B) she wanted to ask directions for the Emerald City
C) she knew them

D) she wanted to know them

8. When the Lion went into the Throne room he saw
@ a shiny Ball of Fire
B) a big head
C) a beautiful girl
D) a small bald man

9. The witch wanted to steal Dorothy’s silver shoes because

A) she liked them very much

B) they worth a fortune

@ she wanted to use their power
D) they were very beautiful

10. When Dorothy threw a bucket of water over the witch, the witch
@ became very small and melted away
B) started to laugh
C) gave Dorothy her shoe back
D) thanked her

C) ANSWER THE QUESTIONS

1. Who did Dorothy live with?
She lived with her aunt and uncle.

2. Why was everything gray in Kansas?
Because the sun burned everything during the summer.

3. Who or what was Toto?
Toto was Dorothy’s dog.

4, Where did the house land when the cyclone lost its power?
It landed in the land of the Munchkins.
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5. What’s unusual with the people who came near Dorothy?
They were small. Smaller than Dorothy.

6. How did Dorothy set the Munchkins free?
The house fell on the Witch of the East and killed her.

7. How many witches were there in the Land of Oz?
There were four witches in the Land of Oz.

8. Who was the most powerful witch?
Oz is the most powerful wizard.

9. Did the silver shoes fit Dorothy’s feet?
The silver shoes fit her very well.

10. Where did Dorothy meet the Scarecrow?
Then she saw a Scarecrow on a high pole in the middle of the field.

1. Why did the Scarecrow want to see the Great Oz?
He wants to see the Great Oz to give him some brains.”

12. How did Dorothy help the Tin Woodsman?
She oiled all of his joints carefully

13. Why couldn’t the Tin Woodsman marry the girl he loved?
Because her mother did not want her to marry anyone

14, When the Scarecrow fell into the river who saved his life?
A stork saved his life.

15. What did the Scarecrow eat for supper?
He ate nothing.

16. Why did they have to wear spectacles before they entered the Emerald City?
Because the brightness of the Emerald City could make them blind.

17. What did the Great Oz ask the Tin Woodsman to do in order to get a heart?
He asked him to kill the Wicked Witch of the West.

18. What happened when the witch of the West blew her whistle?
Many wolves ran up to her from all sides.

19. What did the flying monkeys do to the Scarecrow?
They caught the Scarecrow and threw him onto a tall tree.

20. What did Dorothy do when the witch of the West put on one of her silver shoes?
She took the bucket of water and threw it at the Witch.

£
MK PUBLICATIONS



